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(7) LINEAR INEQUALITIES

Linear Inequalities in One Unknown
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x<-3 = x=_., -6, -5 -4 x<-3 x=... -5 -4 -3.
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-3<x<2 = x=-2.-1,0.1
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—3<x<2 = x=-2,-1,0,1,2
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(2 y y % ) t 4 x
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—3<Lx<2 > x==3,;-2,-1,0, 1 —3Lx<L2 = x==-3,-2,-1,/0, 1,2
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Solving Inequalities in One Variable
Example 1 : Example 2 : Example 3 : Example 4 :
x+3<5 x+3=25 x—-3<5 x—325
x<5-3 x=25-3 x<5+3 2543
x<2 x=2 x<8 x=8
Example 5 : Example 6 : Example 7 : Example 8 :
Ix<S 2%>5 -2x<35 —2x25
5 5 > 5 < 5
x<2 g2 x> =
2 , =
x> s x= 22
2 2
Example 9 : Example 10 : Example 11 : Example 12 :
X5 z 55 =X &5 el
2> 2> B 2
+<10 x=10 *=-10 x<-10
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